21. 
$$f(x,y) = \frac{x-y}{x+y} \quad (x+y) - (x-y)$$
  
Find  $f_x \ddagger f_y \quad \frac{x+y}{(x+y)^2}$   
 $\frac{\partial}{\partial y} \quad (\frac{x-y}{x+y}) = \frac{-l(x+y)-l(x-y)}{(x+y)^2}$   
 $= \frac{-x-y-x+y}{(x+y)^2}$ 

46. 
$$yz = \ln(x + z)$$
  $z = f(x, y)$   
Find  $\frac{\partial z}{\partial y}$   
 $z + y \frac{\partial z}{\partial y} = \frac{1}{x + z} \frac{\partial z}{\partial y}$   
 $\frac{z}{\frac{z}{x + z} - y} = \frac{\partial z}{\partial y}$ 

47. 
$$x - z = \arctan(yz)$$
  
Find  $\frac{dz}{dx}$   
 $1 - \frac{\partial z}{\partial x} = \frac{1}{1 + (yz)^2} \cdot \frac{y}{\partial x}^2$   
 $\frac{\partial z}{\partial x} = \frac{1}{1 + (yz)^2} + 1$ 

$$\frac{\partial^2 f}{\partial x^2} = f_{xx}$$
  
$$\frac{\partial^2 f}{\partial x^2} = f_{yx}$$

Targent plane  

$$A(x-x_{0})+B(y-y_{0})+((z-z_{0})=0)$$

$$z-z_{0}=\alpha(x-x_{0})+b(y-y_{0})\stackrel{\partial z}{\partial y}$$
if  $y=y_{0} \rightarrow z-z_{0}=\alpha(x-x_{0})$ 

$$\stackrel{\partial z''}{\partial x}$$
eq. of T plane  

$$Z-z_{0}-f_{x}(x-x_{0})+f_{y}(y-y_{0})$$

Let 
$$Z = 2X^{2} + 3y^{2} - xy$$
  
Find eq. of T. plane at (1,1)  
 $dZ = 4x - 7 = 3$  (1.14)  
 $dX = 67 - x = 5$   
 $dY = -4x - 7 = -3(x - 1) + 5(x - 1)$ 

**18.** 
$$\sqrt{y + \cos^2 x} \approx 1 + \frac{1}{2}y$$

